Answers to Questions on Inequality

1) Poverty is used to define the no. of people who are poor.  Having a specific number for poverty encourages policy makers to focus on this and how it eveolves:

 UK and USA define a poverty line (people with incomes below this level are in poverty). Some countries do not have such measures (eg northern Europe) instead focus on the level of income at which benefits are received.  The world bank defines poverty to by $1-2 per day in Africa.  Inequality is always a relative concept but poverty can be defined in absolute terms too. It is about how incomes are distributed.

Redistributive policies that have little effects on poverty are: Taxing the rich.  National lotteries, subsidies for the arts and other leisure activities.

2)  I attach the paper by Caroline Lakin to this email.  I did not discuss it in class. Nevertheless why not write up table 5 on p.12 explain the different income measures (see p.3).

Then ask them the following Q’s

1) Why do you get a big fall in the Gini comes as you move from Original to Gross income?

2) As you move from Gross to Disposable the Gini falls but the % in the bottom quintile does not change – what is the Gini picking up?
If you want to talk about the dynamics of inequality (these results are quite old now) Figure 5 p.11 could be described.

3) Get them to talk about all the shocks incomes might receive over the lifetime.

- farmers and actors.

Providing individuals with low current incomes in these professions might encourage them to take more risky decisions (moral hazard).

The fact that incomes have a definite lifetime trajectory, may be able to borrow against future incomes:

Problems with this (1) Credit rationing, (2) private insurance may be inefficient and expensive e.g. student loans….

